Question 1
Question text
Which one of the following element is not necessary for a contract?

Select one:
a. Competent parties
b. Reasonable terms and conditions.

c. Lawful consideration
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d. Free consent

Question 2
Question text
An agreement becomes a contract if :

Select one:
a. It is by free consent of the parties.
b. Parties are competent.
c. Itis enforceable by law.
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d. None of the above .

Question 3
Question text
The correct sequence in the formation of a contract is :

Select one:
a. Agreement, consideration, offer, acceptance.
b. Offer, acceptance, consideration, agreement.

c. Offer, acceptance, agreement, consideration.
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d. Offer , Consideration, acceptance, agreement.

Question 4
Question text
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Avrticle 299 lays down condition which must be fulfilled in contracts made by or with the union
or a state —

Select one:
a. Expressed to be made by the President or the Governor
b. Execute by a person authorized by the President or the Governor
c. Expressed in the name of President or the Governor
d. All of the above



